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CPU usage
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= pi: mmcblkOp2: write 24.8i0/s

== pi: mmcblkO: write 24.8io/s

Disk I/0 bytes for /de

977 KiB

- e (FON ——

-977 KiB v

-1.9 MiB

16:00 18:00
== PI: MMCDIKUPZ: read 845 KIB
w=  pi: mmcblkOp1: read 0B
== pi: mmcblk0: read 845 KiB

Disk 1/0 time for /de

5s
0oms
-5s
-10s
-15s
20s

16:00 18:00

max
== pi: mmcblkOp2: write 18.6 s
== pi: mmcblkO: write 18.6 s
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v Health Cheack
CPU load
100%
75%
8
g 50%
5
& 25%
0%
16:00 18:00 20:00
min max avg current v
== pi:user 13.6% 33.2% 24.8% 26.0%

== pi: system

= DI i

4.66 GiB
3.73GiB
2.79GiB
1.86 GiB
954 MiB

0B

7.10% 19.1% 13.5% 14.7%

owait 0.241%  39.7% 8.37% 1.20%
Memory load




